EEX W HIT

bR, D45 WEEY MNIAHTIEE

UM ‘ PMRITHEDY v T ([CELY I TTEE
XEVAS—SIWERY v VI ZERTEL,

EERVAYYI—
Rl - S O ZILVEZOLEE VAN fHas
773 O Ll B
ST 9A Lk O ATVLDA
[ ¢ dNE S
M8 M10 M12 M16
0 0 0 0
—0.009 -0.011 -0.018 -0.013
HERR T
BIEEE b0}
At V (m/min) f (mm/rev)
k& - B2 30 0.03~0.1
ik 30 0.03~0.1
ZIL=E 30~50 0.03~0.1

L

¢ Q1
_ 3|3
) g
I N
T -
D
il
I
Kzzzel
L
p—
Z% 2 21
Om
Y ol
il | é e e
\y _ —
7 G em ) =
¥ ¢ E w :
‘ 1& MA S

SYPIL—F5 TFFyvILL—F0 #HE Z10

B - mm
@m|  w® [ oD [ o [ e1 [eD1 | L [ od [ odl | M%Y [ERS(F
* UMC1090 10 45 435 5 100 8.5 14.5 M8x1.25 ELY
* UMC1590 15 7 4 7.5 100 8.5 14.5 M8x1.25 ELY
* UMC2090 20 10 55 9 120 10.5 18 M10x1.5 o]
* UMC2590 25 10 65 12.5 120 12.5 23 M12x1.75 (o]
* UMC3090 30 10 70 15 135 12.5 23 M12x1.75 3
* UMC3590 35 15 70 17.5 150 17 28 M16x2 Lopd]
* UMC4090 40 15 80 20 160 17 28 M16x2 Lop]
* UMC4590 45 15 80 22.5 160 17 28 M16x2 Lop}
* UMC5090 50 15 100 25 180 17 28 M16x2 [opd]

120 @ EEMR kI BFEREEEE O REEEM



